Name:

Number of Zeros
State the number of zeros each quadratic has without graphing or solving

1. y=(x—4)-3 2. y=-5(x+6) 3. y=-3(x+1)"-1

4. y=2x"+6 5. y=7(x+4)"+3

6. For what value(s) of £ will the function_]y = 3x%? — 4x + k have one

x-lntercept?

7. For what value(s) of 4 will the function f) = kx* — 4x + k have no zeros?
CON
g\/\\Q


Mrs.K
Pencil

Mrs.K
Pencil

Mrs.K
Pencil


Name:

8. For what values of % will the functionw = 3x* + 4x + £ = 0 have no

Zeros? one zero? two zZeros:

9. The graph of the functionﬂf) = x* — kx + k + 8 touches the

x-axls at one point. What are the possible values of £?

10. Is it possible for 7wt + 25 to equal — 87?2 Explain.

State the number of zeros each quadratic has without graphing or solving

11. y=4x2+10x—12 12. y=x2+2x+9 13. y=x2—10x+25
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Number of Zeros

State the number of zeros each quadratic has without graphing or solving

1. y=(x-4)-3 2. y=-5(x+6) 3. y=-3(x+1)’ —l
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7. For what value(s) of £ will the function f(x) = kx* — 4x + k have no zeros?
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Name:

8. For what values of % will the function f(x) = 3x* + 4x + %4 = 0 have no

zeros? one zero? two zeros?
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9. The graph of the function f(x) = x> — kx + £ + 8 touches the
x-axis at One pointy What are the possible values of £?
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10. Is it possible for #* + 25 to equal —8#? Explain.
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State the number of zeros each quadratic has without graphing or solving

1. y=4x"+10x—12 12, y=x"+2x+9 13. y=x"—10x+25
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